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Mental Alility 1

Group Number : 1

Group Id : 96623174

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Mental Ability 1

Section Id : 966231189
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks:

20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231199
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662315611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is giverl with one term missing. Select the correct alternative from the given ones that will complete the
Series.

FRTS, RPVQ, THHED, WLZM?
Options:

1. % YEAL

2. ¥ H]EK

3% HJCL

4. % Y]EL

Question Number : 1 Question Id : 9662315611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Srgerd Team e &, Faed ¥ v ug gr 81 far vy et # 9 gy wEt Eewer gy, ST S @ m e

FRTS, RPVQ, THED, VLZM?
Options:

1. % YEAL

= ¥ H]BK

3% HJCL

4. % Y]EL

Question Number : 2 Question Id : 9662315612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr Ty Termeut # € oy geg giay AT TS0 T S5 o STgRT T W S gl eI ST ST gl

ERAINPOST
Options:
1. % BRAINM

2. % PAIN
3. ¥ PEST
4 % SAINT

Question Number : 2 Question Id : 9662315612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CANNOT be formed using the letters of the given word.

ERAINFOST



Options:

1. ¥ BRAIN
= % PAIN
3. ¥ PEST
4, % SAINT

Question Number : 3 Question Id : 9662315613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CAN be formed usirg the letters of the givern word.

CONTINENTAL
Options:

1. ® NEWTON
= ¥ CENT

3. % LAND

4. % NOMAD

Question Number : 3 Question Id : 9662315613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr Ty Terment # /o geg gy AT 0 T S1eg, @ ST W W 9 ST ST HerdT gl

COMNTIMENTAL
Options:

1. % NEWTOHN
2. ¥ CENT

I % LAND

4. % NOMAD

Question Number : 4 Question Id : 9662315614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg question, select the odd word from the given alternatives.

Options:

1. % Sun

= % Mercury
3. ® Earth

4. % Mars

Question Number : 4 Question Id : 9662315614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v | o my Hwedt o & Ty aeg @ g

Options:
1. v g
2 % gy
3 % gt

4 ® g



Question Number : 5 Question Id : 9662315615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. % Milk

2. % Water
3% Juice

4. ¥ Store

Question Number : 5 Question Id : 9662315615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

gt ma i fay T et i & R geg w1 afm
Options:

1% g9

2 % gt

3 0% 9H
4 W o

Question Number : 6 Question Id : 9662315616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:

1. % NEWC
= ¥ OSHC
2. % PTYE

4. ® HLOW

Question Number : 6 Question Id : 9662315616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt v # fay Ty Rt # 9 Buw e sart @ g
Options:

1. % MNEWC

2 ¥ OSHC

= % PTYE

4 % HLOW

Question Number : 7 Question Id : 9662315617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word pair from the given alternatives.

Lady finger : Vegetable . 7. 7
Options:
1. * Drink : Water



2. % Zar: Four
3. ¥ Jupiter - Flanet
4 % Penril : Elack

Question Number : 7 Question Id : 9662315617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Taferiad wa # fau wy foereut & & Helfda geg gm &7 g
el Afed 70 7

Options:

1. % fiqr: oMl

2 % TN

= o e Ug

4. ® UEe : wTeAr

Question Number : 8 Question Id : 9662315618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related letters from the given alternatives.

MNE TS FI: 7
Options:

1. % VO

2 % 1P

3. ¥ VP

4 ® IO

Question Number : 8 Question Id : 9662315618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimET vg | o my Hwedt o & Fete Rt wf g

WE TG PI: Y
Options:

1. % VG

2. % 1P

3. ¥ VP

4 % 1UD

Question Number : 9 Question Id : 9662315619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg question, select the related letter pair from the Ziven alternatives.

SAND  WHOQA 7 Y
Options:

1. ® MIME : KLEH
= % COFE : FLSE

3. ¥ BANE : DYPC



4. % HINT : GHMS

Question Number : 9 Question Id : 9662315619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt weg # fou T fHeeat # & FeiT anr g ®7 g

SAND  WHEOQA 7 Y
Options:

1. ® MNIME : KLEH
= % COPE : FLSE

3. % BANE : DYPC
4. % HINT : GHMS

Question Number : 10 Question Id : 9662315620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code language, MAGIC is written as "OCIKE’. What is the code for ‘FRIDGE' in that code language?

Options:

1. % HTKFIH
2. % [ULGIH
3. % TWMHEI
4. % HTEKFIG

Question Number : 10 Question Id : 9662315620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U Tafe #E g #, MAGIC ®1OCIKE W91 99T ) 39 ®IE 9T H ‘FRIDGE' &1 #12 #4727

Options:

1. ® HTKFIH
= % [ULGJH
3. % JWMHEI
4. % HTEKFIG

Question Number : 11 Question Id : 9662315621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 'RANGED' is written as ‘SZOFFC’ . What is the code for MORGAN' in that code
language?

Options:

1. % MMSEAL
2. ® OOTGCH
3. % NNTFEM

4. % NMNSFEM

Question Number : 11 Question Id : 9662315621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TaiEE #E 9T # RANGED #1 ‘SZOFFC 1o/l a7 81 50 F18 9T #§ ‘MORGAN' & F1 &7 &7

Options:



1. * MMSEAL
2. % OOTGCN
3. % MNNTFEM
4« MNMNSFEM

Question Number : 12 Question Id : 9662315622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Iri a certain code language, 'Baj is happy' is written as ‘4 3 &', Happy are people’ is written as "3 1 37, People
are good’ is written as ‘9 2 1°. What is the code for ‘Good’ in that code language?

Options:

1.¥2

2 %]
2 % g
4. % 4

Question Number : 12 Question Id : 9662315622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

% e #E T # ‘Raj is happy ®1 ‘4 3 & WE19ET 8, ‘Happy are people’ ®1°9 1 3 WE1 AMTE, ‘People are
good’ HT'9 2 1 PRI AET 31 56 T8 AT H ‘Good’ &1 H1S 74T 57

Options:

1.2
2 %1
2. %9
4 % 4

Question Number : 13 Question Id : 9662315623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five boys L, M, N, © and F are sitting in a row facing towards north (not necessarily in the same order). There
are five cars 1, C2, C3, C4 and 5. Each boy drives only one car among these cars. L is at the left end. Cnly ©
15 towards the right of M. P drives car C4 and is second to the left of ©. The bhoy who drives the car C2 15 to the
immediate right of M. L drives car 1. The boy who drives car C5 is towards the right of the boy who drives
car C4. Who drives car C37

Options:

1. %M

2 &P

3 %L

4 ¥ I

Question Number : 13 Question Id : 9662315623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % M




2. %P
3 %L
4 ¥ 1

Question Number : 14 Question Id : 9662315624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five product R, 5, T, Uand ¥ are arranged according to their cost price in ascending order from left to right
not necessarily in the same order) Price of R is the least. Price of ¥V is more than only three products. Price of T
iz not less than V. Price of 5 is more than U. If the price of ¥ is Es. 120, then what can be the price of B?

Options:

1. % Es. 140
2. % EFs 110
3. % Rs 122

4 % Hs 134

Question Number : 14 Question Id : 9662315624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U SR R, 5, T, U TV &1 3% #d Trdl o I ad o g1 &1 878 9gd 0 o saieard Tomr T § (e Ta) &1 5d F0 §
B0l R T Hdl gAdH 51 WV T I mdmﬁ?chIQT%S@W%TWHﬂ?%WHﬁ@SWHFJU@S@EE% W W
120@%Rmnﬂw AT 27

Options:

1. % 140 =
= ¥ 110 =
3 % 100w
4. % 134 =

Question Number : 15 Question Id : 9662315625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four pecple &4, E, Hand M live in a building not necessarily in the same order). There are four floors in the
building: 1, 2, 3and 4. 1 is the lower most floor. Each person lives o one floor. & lives at the odd nurnbered
floor. H lives just below 4. B does not live above & How rmany people live between 4 and M?

Options:
1. %2
2. %1
V0
4 % 3

Question Number : 15 Question Id : 9662315625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

B R i A RSN SR SR SR UL NG Rk U
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Options:
1. % 2
2. %1
V0




4 ® 3

Question Number : 16 Question Id : 9662315626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five PRrsons & B M, Pand R are Sittiﬂg o112 aboye the other (not HECESSEI.I'H‘}.T in the same order). B is abowve Dﬂl‘}.?
threea people. Oﬂl‘}.? twal PETSOIS Ara betveoer) B and M. 'Dﬂl‘}.? QT2 Persor 15 _jU.St belowe I, P is three places el
E. Who is sitting just above A7

Options:
1. %R
2 ¥ B
%I
4 % P

Question Number : 16 Question Id : 9662315626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ui=l &fd &, B, N, P TR U & S U &6 FU % (T A1 1 SH1 8 § g0l B el d 19 el & S 51 R 701N & 7z
ﬁmﬂaﬁwﬁa%mﬁﬁm:ﬁ%mwwﬁﬁ%P B ¥ o9 T il 81 A o SioF S0 T <laT ga 87

Options:
1. %R
2. ¥ B
%N
4 ® P

Question Number : 17 Question Id : 9662315627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& i5 the father of H. F is the mother of T. T is the daughter of H. R is the son of F. How is R related to 47

Options:

1. * Grandfather
2. % Son

2. ¥ Grandson
4 % Erother

Question Number : 17 Question Id : 9662315627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AFFUTAF TH AN T, HE GBI R, F#FTUF 21 R, A & T TR Tale 57
Options:

1. % grarr

2. %03

3 VU

4 % qrg

Question Number : 18 Question Id : 9662315628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staternents:
I MoHIiIsE.
II. Al E are M.

Conclusion:

[. Some M are H.

II. No M is H.

[II. Al Mare K.

Options:

1. % Only conclusion I follow

2. % Both conclusion I and IIT follow
= % Only conclusion I follow

4 % MNeither Conclusion follow

Question Number : 18 Question Id : 9662315628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Terr o et © g e o I WS I el T T i fmerd o o f T M et w 'Ry 6, 9T S5 9 A
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II. TR, M 31
Termen:

I FF M, H 2

II. aﬁ?m H
111, &+t M, ngr%j

Options:

1. % ol Tmepy I 21 e #eaT g

2 % gt iy I 9Tl Srge @ g
3. % el Teey 11 STgaeo & &

4 g ot Fwd argev AR awar g

Question Number : 19 Question Id : 9662315629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staternents:

[ All red are yellow.

II. Some yellow are white.
III. Some white are Plue.

Conclusion:

[ All blue are white,

II. Sorme white are yellom.
I1I. Sorne blue are white.



Options:

1. ® Both conclusion [ and III follow
2. % Only conclusion I follow

2. % Both conclusion I and I follow

4. % Both conclusion II and III follow

Question Number : 19 Question Id : 9662315629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Ta My weg g g o 3 ag 3 Sl O AT 7 ey o T 9 Taw T et T 6Rt 0, o 99 9 A
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1. |1 #AT Uit 1
11, 7 Ulel A0 3
R

Trment:

1. &t 1T | gl
I1. 7 AUhg UIaT 5]
I1I. F ST Hhg, 2

Options:

1. % At Hmepd I T2 111 Srge @ &
2 % drgel ey [ STTET0T @l

3. % gl Tmed [ J2T I SgE FWd 5
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Question Number : 20 Question Id : 9662315630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four nurmber pairs are given. The number on left side of (- 15 related to the number
of the right side of {-) with some Logic (Rule [Relation. Three are similar on basis of same Logic /Rule (Relation.
Select the odd one out from the given alternatives.

Options:

1. % 17 -30
2. % 13-26
3% 20-35
4 % 18-31

Question Number : 20 Question Id : 9662315630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et TaT T ey H, = e g TR T (<) o s ST S TE S (- jﬁaﬂﬁﬁnﬁmﬁ%ﬁ;ﬁaﬂ eyl ° Tt
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Options:

1. % 17 -30
2. 0% 13-26
3. ¥ 20-35
4 % 18-31



Mental Alility 2

Group Number : 2
Group Id : 96623175
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mertal Ability 2
Section Id : 966231190
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 966231200
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662315631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (- is related to the number
of the right side of {-) with some Logic (Rule jRelation. Three are similar on basis of same Logic/Rule (Relation.
Select the odd one out from the given alternatives.

Options:

1. % 749
2 % L5 25
=% 11121
4 W 17 285

Question Number : 21 Question Id : 9662315631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et TaT T weT #, S A e T T (<) o S ST S TS S (- jﬁf?ﬁraﬁiﬁﬂﬁﬂwﬁﬁﬁﬁrﬁaﬁ Harel H HaTerd
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Options:

1. % 749
2. % 525
2% 11121



4. % 17285

Question Number : 22 Question Id : 9662315632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt we # fau 0 feeweut # 4 Heldd g w i g
Zd:du07

Options:

1. % 5264

= ¥ 5870

I % LR 74

4 % 5482

Question Number : 22 Question Id : 9662315632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related nurmber from the given alternatives.

Sd.4d50 707
Options:

1. % 5264
2 ¥ 5870
3. % CR.74
4 % 54 82

Question Number : 23 Question Id : 9662315633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

436 13 53927
Options:
1. % 15
2. ¥ 18
3% 8
4 % 9

Question Number : 23 Question Id : 9662315633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pt ma # fa oy Rt # & wetiT dwr ar g
436 13 592 7

Options:

1. % 15

= ¥ 18

3% 8

4 % 9



Question Number : 24 Question Id : 9662315634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging which two signs the equation will be corract?

le+9 +2-15 =45 =16
Options:

1. % +and -

2 % +and x

3% +and -

4 % -and +

Question Number : 24 Question Id : 9662315634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TorT 21 o T SIS H T A e O FHIE T "l 5 AT

16+9+2-15x45 =16
Options:

1. % + qer -

2% 4+ T K

3V - ger-

4. % =g+

Question Number : 25 Question Id : 9662315635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By interchanging which two nurrnbers the equation will be correct?

7T+IZ-6+9xd=8
Options:

1. % 6and 9

Z % Zand 4

2. ¥ 2and 9

4 % 7and 4

Question Number : 25 Question Id : 9662315635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToFT 2T HeEgTall T T H E0E eldel- 0e GHIE 5l 51 SATe

F+3-B+-89xd=08

Options:
1. % & qur g

2% ST 4
2V 2T
4 % 7IAT4

Question Number : 26 Question Id : 9662315636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

216
418
401 7 |36

Options:
1. % 42
2 ¥ 18
3% 24
4 % 28

Question Number : 26 Question Id : 9662315636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e meg # T i feent ® & way g (7) o ST 0T ST STet T @ e

216
418
401 7 |36

Options:
1. % 42
2 ¥ 18
3% 24
4 % 28

Question Number : 27 Question Id : 9662315637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be placed at the sign of question mark () from the
giver alternatives.

814 |6[10]|5]15
40 68

Options:
1. % 140
= ¥ 125
3. % 90
4 % B5

o

Question Number : 27 Question Id : 9662315637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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814 |6[10]|5]15
40 68 ?

Options:
1. % 140
= ¥ 125
3. % a0
4, % 35

Question Number : 28 Question Id : 9662315638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
foASAZ=33and0AcAl=160then7A1AZ2 =7

Options:

1. % 271
2 ® 172
3. % 127
4 & 217

Question Number : 28 Question Id : 9662315638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS A JAS =305 TUOALCALl =160F, T7FALALAZ =7

Options:

1. % 271
=z w172
3 % 127

4. 9 217

Question Number : 29 Question Id : 9662315639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If P’ means "+, "% means "+, ‘B’ means "= and 'S’ means -, then which of the following equation is true?
Options:

1. % 16FP390QZRZ =186

2 % 17P13514R 1 =28

2. ®EFL152RZ2=12

4 ¥ 39R30Q13FPC5 =14

Question Number : 29 Question Id : 9662315639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot P T anf o, Q wT art R w7 et o qer S o and - gt At P # § o ar e a2
Options:

1. ¥ 1EP3Q3IRZ =16

2 % 17P13514R 1 =286



3. ®EPL1IS3RZ =12
4 ¥ 39R3IO1ZPS =14

Question Number : 30 Question Id : 9662315640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Wood, Flastic, Shirt

Options:

QD

OO
4. v O

Question Number : 30 Question Id : 9662315640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE W - AT Al T T AT o s o Herel &1 a1 e HedT o)

Options:




OO
4. v O

Question Number : 31 Question Id : 9662315641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Marnager, Teacher, Lawyer
Options:

1.9

©

Question Number : 31 Question Id : 9662315641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TE AT i AT e Ty T A @ st o et @ wel e w8
HAIE, aTedTIeE, TR

Options:




(Q)o
> %
3%
4 ® @

Question Number : 32 Question Id : 9662315642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ehawil starts walking towards south and walks 15 meter. He turns left and walks 20 meter. He again turns
left and wallks 15 meter. He turns right and walks & meter. How far is he from his initial position?

Options:

1. % 24m
2 % 20m
3. ¥ 25m
4 % 28m

Question Number : 32 Question Id : 9662315642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WTTele STGUT o ST ZIRT S0 BT & 27 15 HISE e 51 o a1l 37 g2d1 g g7 20 HITE =wdl g1 ag T el o g2ar
TUT 15 HITT o0 T 51 T St S8 G271 5 T 5 6ot =ed 7 1 0F AR Telg | ThaT gel 0 57 o e

Options:
1. % 24 Hiex

= ® 20 ORv
= & 25 Oy
4 ® 25 O@ET

Question Number : 33 Question Id : 9662315643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ev folding the given paper, which of the following cube can be formed?

291G
H
M

Options:

4 &

Question Number : 33 Question Id : 9662315643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T I @ Hiee R, e ET ® € 97 e S S a8

R

P

91G
H
M

Options:



Question Number : 34 Question Id : 9662315644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg | oy my Ewedt § & v B (7) & T U S ATt st g

SRS

TVvV VIVVY

Options:

9444
1

3 v




Question Number : 34 Question Id : 9662315644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

sCHECH REECHIEC

TVV VVVYVY

Options:

444
1o

= o

Question Number : 35 Question Id : 9662315645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

(Y

Options:

hA




gl

Question Number : 35 Question Id : 9662315645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl na & o my Resdt # & By syl @ g

Options:

(Y

8
0
0

Question Number : 36 Question Id : 9662315646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be placed at the sign of question mark (7) from the given
alternatives.

Y IN\W%Z )
alallalallayg|
Options:




3.«?“%/

Question Number : 36 Question Id : 9662315646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT na # fon my ferweat #§ & wer forvg (7) & S0 0% I It STTgtd i g

%N \W% )
alallalallapg]
Options:

S.mﬁ’y/

Question Number : 37 Question Id : 9662315647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a mirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

DN

[T

Options:

A

=



4 *® gI

Question Number : 37 Question Id : 9662315647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt U ST BT AR ¥ 0T TAT A, F7 ) T8 Fo SETadt # 8 FI 6l ST W ST o we i fele gy

DB
1 ¢

Options:

=

v [T




Question Number : 38 Question Id : 9662315648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

7

Options:

L

N 3R

i

Question Number : 38 Question Id : 9662315648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TTE IO T # 99 IR AT w1 gy e # n ey BT

y

Options:

L




Question Number : 39 Question Id : 9662315649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

Fant Fant
Y \* ey
P 9
L .
Options:
D
1/
1. ¢
T
N
o W
an
Ay
3 %
fd A
1/
4 ®

Question Number : 39 Question Id : 9662315649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Fan Fan
A% Y 7
P 9
Y ’
Options:
(T
1/
1.+
P
X
o
D
L
3
[ Y
L/
4 *®

Question Number : 40 Question Id : 9662315650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which answer figure will complete the pattern in the question figure?

Options:

/|

2_%\“"




/.-'""

4 &

Question Number : 40 Question Id : 9662315650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT e AT o AT BT T Hl?

Options:

/|

4

iJeneral Awarenessl
Group Number : 3
Group ld: 96623176
Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No



Revisit allowed for edit? : No

Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 966231191

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231201
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662315651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eara Gumbad is an ancient monurnent located in

Options:
1. ¢ Delhi

2. % Maharashtra

3. % Gujarat

4. % Rajasthan

Question Number : 41 Question Id : 9662315651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
CELRIL - o R TeF Wi T gl

Options:

1. ¥ Ter
2. % mERTE
3. ® TR
4 # TRAET

Question Number : 42 Question Id : 9662315652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following state the Sangai Festival is celebrated?
Options:

1. ¥ Uttarakhand



2. % Tarnil Nadu
3. ¥ Manipur
4 % Maharashtra

Question Number : 42 Question Id : 9662315652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafmET # 9 T tea | O Ay edd AT ST 87
Options:

1. ® FREE

2 % giw A

3. ¢ witige

4. % mErTE

Question Number : 43 Question Id : 9662315653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ewe Monastery is located in which state?

Options:

1. % Hirmachal Pradesh
2. % Sikkim

3. % Jarmrru and Kashrmir
4. ® Meghalva

Question Number : 43 Question Id : 9662315653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 A for e H T 27

Options:

1. BUEe ngy
= % foige

3. % S ofR e
4, ¥ HETET

Question Number : 44 Question Id : 9662315654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pandit Shivkurmar Sharma is associated with which classical instrument™?

Options:

1. * Sitar

2. % Flute
3. ¥ Santoor

4 % Harrmoniurm

Question Number : 44 Question Id : 9662315654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Teeagar st e e arer T 9 92 8

Options:



1. % Taw
2 % g
3 v A
4. ¥ gEAi—TH

Question Number : 45 Question Id : 9662315655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the chairman of Expert Cormmittee on MSMES constituted by REI?

Options:

1. % Shri U K. Sinha

2. ® Shri Nandan MNilekani
3. % Shri Shaktikanta Das

4 % Shri Bimgal Jalan

Question Number : 45 Question Id : 9662315655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
REI T Migd MSME W Taame ainfd & aregqy #1727

Options:

1. ¥ st % R
2 % At qg e
3. % oft aiked gE
4 ® Hf =Ee A

Question Number : 46 Question Id : 9662315656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following document is NOT included in the Budget documents presented to the Parliament?

Options:

1. % Receipts Budget

2. % Finance Eill

3. % Expenditure Budget
4. % Extra Expenditure Eill

Question Number : 46 Question Id : 9662315656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaieET # | B A7 e 96 § Ueqd e geatal § ATHe 51 5T a7

Options:

1. % frie a1

2 % fOgfEd

3. % T T

4. ¥ arfdter woa /e

Question Number : 47 Question Id : 9662315657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For how many Ccrops MSF Minimum Support Price) is declared?



Options:
1. % 23
= W22
3. % 20
4, % 25

Question Number : 47 Question Id : 9662315657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THTET (a Tl gra) Trat waat & oy g & =mar g7

Options:
1. % 23

2. V22
3. % 20
4 % 25

Question Number : 48 Question Id : 9662315658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is not a magnetic material? (Attracted by a magnet)

Options:

1. % Iron

= ¥ Copper
3. % Cobalt
4. % IMickel

Question Number : 48 Question Id : 9662315658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T & & w1 g gradie uered 751 87 (v &R SR
Options:

1. % FgT

2 ¥ T

z. % FhEwe

4 % Ty

Question Number : 49 Question Id : 9662315659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SewAgelsa ______

Options:
1. # solid

2 ¥ liquid
2. #® gaseous
4. % plock

Question Number : 49 Question Id : 9662315659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. % 39
= ¥ g
3. ® T
4, % =itp

Question Number : 50 Question Id : 9662315660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Frocess of rusting becomes faster on ship because of
Options:

1. % Salt water

2. % MNormal water
2. % Birds

4. % Aquatic animgals

Question Number : 50 Question Id : 9662315660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ & TICOT AR T 0T 1T AT &1 WIpaT o 51 AT 31

Options:
1. & GETUET

= % gEruHEr
= % uigt
4, % FEt nToEt

Question Number : 51 Question Id : 9662315661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

To Compensate for water and salt lost by diarrhioea,
Options:

1. # Vitarnin tablets

rmust be given to patient.

2 % Tetanus
= ¥ QRS
4. % Milk

Question Number : 51 Question Id : 9662315661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TET BT Hehe! U S7IT 0 S 90T o Toiy, T ______ AT IR
Options:

1. % Taariie @t mier

o ® T

. ¥ sieTrE

4. % gy

Question Number : 52 Question Id : 9662315662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is an invertebrate?

Options:

1. % Toad

2. % Earthwaorm
3. % Octopus

4. % Starfish

Question Number : 52 Question Id : 9662315662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TorgietiaT & & & Uk Sfded 87

Options:
1. v 21iE

2 % degam
= % i
4, ® gEE

Question Number : 53 Question Id : 9662315663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following methods cannot be used to purify drinking water?

Options:

1. % Candle type filtering
2. # Boiling

3. % Chlorination

4 % Sodium addition

Question Number : 53 Question Id : 9662315663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # A T Terter o Ui Ui & UT=T T g e o Tol Jg] e T Herd 1 57

Options:

1. % Fed ey Theetgt
2. % Jarer

3. ® FHICH

4. |z HaeET

Question Number : 54 Question Id : 9662315664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HIV is a type of and spreads by

Options:

1. % Virus, air

2. ¥ Virus, sexual contact
3. % Bacteria, water

4. # Bacteria, sexual contact



Question Number : 54 Question Id : 9662315664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS T TR AT gl BT e 81
Options:

1. % v, gar

2. TETd, I A

3. % et o=t

4. % i, < dud

Question Number : 55 Question Id : 9662315665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pollutants releasaed by ACS and refrigerator are called

Options:

1. % Greenhouse Gases
2 ¥ CFCs

3. % Acids

4. % Nitrogen Dioxide

Question Number : 55 Question Id : 9662315665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 37 e & Foier ool gmet 1 ______ TG

Options:

1. % fiFgraa g
2 diom

3. % ame

4. ® qECHA SRS

Question Number : 56 Question Id : 9662315666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which courtry 15 the second largest producer of Rice?

Options:

1. % Russia
= ¥ India

2. % China
4 ® 1ISA

Question Number : 56 Question Id : 9662315666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=ITETeT BT Gl Heldl aST Souleed o i &1 57
Options:

1. % &9

> W gNT
3 ¥ I
4 % amirmT



Question Number : 57 Question Id : 9662315667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is the tributary of river Ganga?

Options:

1. ® Hindon
. % Tapi

2. ¥ Gandak
4. % Purna

Question Number : 57 Question Id : 9662315667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H & I T ST T A B Fue 57
Options:

1. % e

2 % gt

z ¥ TEw

4. % grar

Question Number : 58 Question Id : 9662315668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are part of Andaman and Micobar group of islands?

I. Baratang Island
II. Car Micobar
III. Marcondurm

Options:

1. ®¥ landll

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 58 Question Id : 9662315668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
FaimET # § &9 a1 & siza o e v ey w1 R g

I aRET &
Il. WX @
11l Avwrizd

Options:
1. % I d9mll

2% 1 qET Il
Z% [ FuTlll
4 % 11 qerlll

Question Number : 59 Question Id : 9662315669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Which state has the highest sex ratio in India according 1o Census 20117

Options:

1. ¥ Kerala

2. # Chhattisgarh
2. ® Tarmil Nadu

4 % andhra Pradesh

Question Number : 59 Question Id : 9662315669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2011 T SHVET & SHR ARd § Fd T 1 TwTuTd Jere siie 57

Options:

1. &0

2. % e
3. % FieE

4 ® rrugy

Question Number : 60 Question Id : 9662315670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the cutermost range of Himalayas called?

Options:

1. % Zanskar Range
2. # Pir Parjal

2. ¥ Shivaliles

4. # Kanchenjunga

Question Number : 60 Question Id : 9662315670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEATAT T Teld ATEel T AT ®1 T Bgl AT 57
Options:

1. % JT 4@

2. % O 0T

2 TdEiee

4 ® g

Gerieral Avwarenesss

Group Number : 4

Group Id: 96623177
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareress:s

Section Id : 966231192

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231202
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662315671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eiru hyvdroelectric project is to be located on which river?

Options:

1. ® Beas

2 % Ravi

3. % Jhelumn
4. % Chenab

Question Number : 61 Question Id : 9662315671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tore Aetfaeld uia =T e T o e gty
Options:

1. % =g

2. ® Ty

3 % e

4« IE

Question Number : 62 Question Id : 9662315672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho was the President of the first session of Indian National Congress [NOC)?

Options:

1. ® G K. Gokhale

= % Aurobindo Ghosh
3. % Ras Behari Bose

4. ¥ Wornesh Chandra Banerjes



Question Number : 62 Question Id : 9662315672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 1 T8I B0 (N oF URel | oF STy & 97
Options:

1. % St @ Mt

2 ® aEfEETEm

3. ¥ e EEwrae

4 G =g w==

Question Number : 63 Question Id : 9662315673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which Viceroy announced Fartition of Bengal in 19057

Options:

1. ¥ Lord Curzom
2. % Lord Amherst
3. ® 3Sir Metcalfe

4 % Lord Auckland

Question Number : 63 Question Id : 9662315673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1905 H TorT STerawT= = =TTTe T F=T il S0 &7

Options:

1. & F1S @i

2. ® HIE uAgEs
= ¥ oy HewE

4. % HIE Awois

Question Number : 64 Question Id : 9662315674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho was the successor of Chandragupta Maurya?

Options:

1. % Ashoka

2. ¥ Bindusara

3. * Dhanananda
4. % Kanishka

Question Number : 64 Question Id : 9662315674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ZIGTA W 1 ORI HT 417

Options:
1. % ararew

2. ¢ Tavgar

2 % oy



4. % iy

Question Number : 65 Question Id : 9662315675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pairs is correct?

Options:

1. ¥ Kanpur -Mana Saheb

2. % Bakht Khan-Awadh

3. ¥ Kanwar Singh - Maharashtra

4. % Barrackpore -Begurn Hazrat Mahal

Question Number : 65 Question Id : 9662315675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PR # ST ar S a2
Options:

1.9 YT —ATAT Jlg e

2. % Eed G-
3. ¥ g 9T - |EE
4 & YT - g Hgel

Question Number : 66 Question Id : 9662315676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Hind Swaraj” by Mahatmna Gandhi was published in which year?

Options:

1. % 1903
2. ¥ 19039
3. % 1907
4 % 1910

Question Number : 66 Question Id : 9662315676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HETCHT el BT Tt e e oy anf o wepridra g2 offe
Options:

1. % 1308

2 ¥ 1903

3. % 1907

4. % 1910

Question Number : 67 Question Id : 9662315677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which crop was NOT grown during Harappan Civilization?

Options:
1. ®* wheat

2. % Barley



2. % Cottorn
4 % Maize

Question Number : 67 Question Id : 9662315677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT TTT & ST I 61 B A51 3IE AT oft?

Options:
1. % 1y
2, % 3t
3 ¥
4. % mgT

Question Number : 68 Question Id : 9662315678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In 201% which of the following has been awarded for his excellence in the field of social service?

[. Eiha Dixit
II. Prathvalksha B R
III. Aryarman Lokhotia

Options:

1. ¥ landll

2 % Iland Il
2. % landIII

4. % 1,11 and III

Question Number : 68 Question Id : 9662315678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TgteaT § & o 2019 | ST 92 & 557 1 ST JogedT & 1oy SR e T 37
1. E5T EMER

1. Te=regT &t 3T
111, T=fA AT

Options:

1. % 134Tl

= % 11 g9l
3. % 1 J9rlll
4. % 1 11 J9TlIl

Question Number : 69 Question Id : 9662315679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who released the book “Making of MNew India'in 20197

Options:

1.9 Arun Jaitley

2. % Rarm Nath Kowvind
3. % Narendra Modi

4 # Dr. Manmohan Singh



Question Number : 69 Question Id : 9662315679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 H "HIT STh w2 STEaT Qo @7 ot fea- fear a

Options:
1. & s SEet

2 ® T A Fiidg
3. ¥ S e
4. % 2T w=AR ¥y

Question Number : 70 Question Id : 9662315680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zentral Institute of Indian Languages is located in

Options:

1. ¥ Mysore
2. % Bhopal
3. * Indore

4. % Jaipur

Question Number : 70 Question Id : 9662315680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1 AT HT H T 21
Options:

1. ¥ i

2 % omre

2 ¥ 2

4, ® FqU

Question Number : 71 Question Id : 9662315681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The winner of Miss India 2019 title belongs to which state?

Options:

1. % Uttarakhand
2. ¥ Rajasthan
Z. % Manipur

4 * Gog

Question Number : 71 Question Id : 9662315681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TFEEar 2019 F EeTT e e A g

Options:
1. % JmmEs
o W TR

3. % gt



4. % T

Question Number : 72 Question Id : 9662315682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which state governmment has banned advertisement and sale of e-cigarettes in May 20197

Options:

1. % Harvana
2. % Punjab

2. ¥ Rajasthan

4 % Maharastra

Question Number : 72 Question Id : 9662315682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 2019 # o5 71 Taw = -1 o THeme oY e ov nideer e 27

Options:
1. % Eﬁﬂ'l‘ﬂ'lT

= R o

S W T
4.33]:@-{1?-

Question Number : 73 Question Id : 9662315683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The boolk Motes of a Dream' is an Authorized Eiography of

Options:

1. ¥ Michael Jackson
2 ¥ A& R Rahman

2. # Manushi Chhillar

4 % Syshmita Sen

Question Number : 73 Question Id : 9662315683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e A STE T E ______ F T ey e
Options:

1. % AEwma Saa

2. ¥ T AW A
3. % gt e

4. % giEwET T

Question Number : 74 Question Id : 9662315684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the highest court of appeal in India?

Options:
1. ¥ Supreme Court
2. % High Court



2. % District Court

4. % Panchavyat

Question Number : 74 Question Id : 9662315684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT | afiet T Tlg] AT i AT 57
Options:

1. ¥ I8 e

2. % I g

3. ® e =g

4 & =T

Question Number : 75 Question Id : 9662315685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is minimurm age qualification for election to the post of President?

Options:
1. % 20
= ¥ 35
3. % 33
4 % 25

Question Number : 75 Question Id : 9662315685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e g, o o1 1 AHaaT & o =Ha I &4 37
Options:

1. % 20

2. ¥ 35

3. % 33

4, % 25

Question Number : 76 Question Id : 9662315686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tenth Schedule of the Indian Constitution deals with

Options:
1. # Languages

= ¥ Provisions as to disqualification on grounds of defection.
3. * Forms of caths or affirmation

4 % List of states and UTs

Question Number : 76 Question Id : 9662315686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 1eF S ke &1 g shgaelt
Options:

1. % sqmorart



2. ¥ g uitad A Tt T
3. ¥ g AT UidETe W e
4 % =t o 99 U= g1 & gt

Question Number : 77 Question Id : 9662315687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which Article deals with exception to the State of Jarmmu and Kashrmir?

Options:

1. ® 363
= % 371
3. % 269
4 ¥ 270

Question Number : 77 Question Id : 9662315687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I AT Siede AN ST R T @ ToEy g T a7

Options:

1. ¥ 368
2 % 371
3. % 369

4. % 370

Question Number : 78 Question Id : 9662315688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first match of ICC World Cup 2019 was played between which two nations?

Options:

1. ¥ England vs South Africa
= % England vs Pakistan

2. ® India vs Pakistan

4 # aAustralia vs West Indies

Question Number : 78 Question Id : 9662315688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ICC TePar 0 2019 7 OgaT 3 fopeT 1 T1et o ety SaT mam a7

Options:

1. & ETE T S8 Sk
2. % T T UTieed T

3. ® R T Ui

4 % esioar aqm dees e

Question Number : 79 Question Id : 9662315689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which tearn wor the Indian Premier League (IPL) 20197

Options:



1. ® Kolkata Knight Riders
= % Rajasthan Rovals

3. ¥ Mumbai Indians

4. % Chennai Super Kings

Question Number : 79 Question Id : 9662315689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S WieR & (PL) 2018 T £ = Sftar?

Options:

1. % FHIA®EET AT g
2. % TR T

3. gag gigaa

4 % oge g T

Question Number : 80 Question Id : 9662315690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
17th edition of Desert Storm Eally 2019 was held in

Options:
1. % andhra Pradesh

= % Harvana

2. ® Gujarat
4. % Rajasthan

Question Number : 80 Question Id : 9662315690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 2T Tl 2019 T 17 a7 Hede H et T e am

Options:
1. % amerudd
o R sﬁzﬂ-u-n
3= AT
4. ¥ TR

Arithmetic Ability1
Group Number : 5
Group Id: 96623178
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithrmetic Atalityl

Section Id : 966231193

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231203
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9662315691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If SEE¥3 is divisible by 11, then what is the value of %7

Options:
1. %9
2. % g
3.7
4 % g

Question Number : 81 Question Id : 9662315691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g SKEXE, 11 g o= §, 9T x FTHE FA7 57

Options:
1. % 9
2. % 8
3.¥7
4 % g

Question Number : 82 Question Id : 9662315692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the Least Cornmon Multiple of 32, 48, 56, 36 and £47

Options:

1. % 4238
2. % 3456
3. ¥ 4032
4 % L5292



Question Number : 82 Question Id : 9662315692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
32, 48, 56, 36 TUT 64 W Aqad AT F4T 57

Options:
1. # 4238

2. % 34586
3. ¥ 4032
4. % 5292

Question Number : 83 Question Id : 9662315693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2-3
2+43

What is the value of:

Options:
1. %1

2=0f3

2

243
T

B
4 ® "'."'E

Question Number : 83 Question Id : 9662315693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:
1.%1

2 =af3

243



1
4 ® V2

Question Number : 84 Question Id : 9662315694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

what is the walue of (12 - 10)3 + 3210 =127
Options:

1. % 1000

2 ¥ 728

2% 444

4 % 1728

Question Number : 84 Question Id : 9662315694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(12 - 107+ 3 x 2 x 10 x 12 FTHH F27 27
Options:

1. % 1000

= ¥ 7ZE

3% 444

4 % 1728

Question Number : 85 Question Id : 9662315695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which is the smallest four digit number which when decreased by 5 becomes divisible by 12, 14 and 187

Options:

1. % 1008
2. % 1025
3. ¥ 1013

4. % 1003

Question Number : 85 Question Id : 9662315695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

= 31T & T el ST a1 5 e S A FH d-A W dg 12, 14 397 18 & ST 5f 9T 57
Options:

1. % 1008

2 % 1025

3.9 1013

4 % 1003

Question Number : 86 Question Id : 9662315696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The product of Highest Common Factor and Least Cormrmon Multiple of two numbers is 4928 and the
difference betweer] the numbers is 22, What is the larger nurmber?



Options:
1. % 56
=z % BB
3. ¥ B8R
4, % 74

Question Number : 86 Question Id : 9662315696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o1 e o HeaH QA & a2 gy UTIacd & U 4928 § 9T Hearal & sid @1 3a¥ 32 5] 9ol 91 397 57
Options:

1. % 56

2 % BB

3. ¥ 28

4 % 74

Question Number : 87 Question Id : 9662315697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of: [ﬂ— 546\1’ g i W E+ E

45 5 ) 2009 5
Options:
1. % 91}1303
o0% 11323
3. % 2032/135
4 % 199|8685

Question Number : 87 Question Id : 9662315697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

[91 546)_3 70 81
G55 5L AR H AT FAT 7

Options:

1. % 91/1803
= % 1133
3.9 2032/135
4. % 199]8685

Question Number : 88 Question Id : 9662315698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is the greatest?

Options:



V19 V11

1. ¢

V17 —V13
= "

V18 — /12
3"

V6 — VT3
4 %

Question Number : 88 Question Id : 9662315698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafmET # & & a7 Jad 9o T 57

Options:

VI9 =11

1.9

V17 —-V13
2 %

V18 — 12
T

VI6—VIz
4 %

Question Number : 89 Question Id : 9662315699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three numbers are in the ratio 2 © 2 : & and their Least Cormmon Multiple 15 1260, What is the Highest
Corrmon Factor of these numbers?

Options:
1. % 24
2 % 38
3. % 5B
4 9 42

Question Number : 89 Question Id : 9662315699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T EEIT 2 30 5 % U | B T 3% fgel GAEcd 1260 31 59 fEar! ®T HgaH THTIE & FT g
Options:
1. % 24
2 ® 35
3 % cg
4.9 42

Question Number : 90 Question Id : 9662315700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i -1

What is the value of: /6.25 +| 3/0.125 x252

Options:

1. %02
=z ¥ 28
3% 1(5
4 % 2|5

Question Number : 90 Question Id : 9662315700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

£ -1

J6.25 +| 3/0.125 x252 | T AT =T &7

Options:

1. %02
2 ¥ 28
3. % 15
4 % 2|5

Question Number : 91 Question Id : 9662315701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average of 11 numbers is 147. If each nurmber is increased by 2, then what will be the new average?

Options:

1. % 147
2 % 145
3% 1492
4 ¥ 149

Question Number : 91 Question Id : 9662315701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

11 Hemeit @ ot 147 3 ol weam dear @1 2 F e fgar sy, 91 79 eftea g
Options:

1. % 147



2. % 145
3% 1492
4. ¥ 149

Question Number : 92 Question Id : 9662315702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

211 an article, the discount given is 20% of the selling price and a profit of 20% of selling price is earned.
Marked price of article is how rmuch percent more than the cost price?

Options:

1. % 40 percent

2. ¥ 50 percent

. % ZZ.3C percent
4. % 50 percent

Question Number : 92 Question Id : 9662315702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T meg W e gr & 20% F1 90 S T8 ¢ TT e grd & 209 FT A FHET T 81 e w7 6T 5 7 5 o e
RICECREEC

Options:

1. % 40 uideT

2. ¥ SO nidaE

3. % 3333 0T

4 ® g0l

Question Number : 93 Question Id : 9662315703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of cost price and marked price of an article is 3 ; 4. The seller gives two successive discounts of 10%
orl the article. What is the profit | loss percent?

Options:

1. % 125%loss

2. ¥ 2% profit

2% 10% profit

4. % Mo profit No loss

Question Number : 93 Question Id : 9662315703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

e Seq o W e TUT Sifhd Hrd T SUTd 3 0 4 g1 Telshd 1 a6 00 10% @1 &1 s IHE To oaT g1 olr BT Hid o T 57
Options:

1. % 12 5% g0

= ¥ 5% W

3. % 10% AN

4. % T AT AT EI

Question Number : 94 Question Id : 9662315704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
If &'s incorme is 120% of B's income, then BE's income is what percent of A's income?

Options:

1. % B33 percent
2. # 30 percent
3. % 100 percent

4. # 140 percent

Question Number : 94 Question Id : 9662315704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Al A 1 T, B & AT &7 120% 5, ITE & 3119, A o7 31T & a1 Hid e 57

Options:

1. ¢ 833 aidew
2. % 20 nidaT
3 % 100 oidaT
4, % 140 OfdaT

Question Number : 95 Question Id : 9662315705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
10% of &’'s income is equal to the 5% of C's income. If C's income is Bs. 200, then what is the income of A7

Options:

1. % Rs. 200
2 ¥ Rz 150
3. % Rs. 100

4. % Rs 250

Question Number : 95 Question Id : 9662315705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A T ST 10%, C &7 37 & 5% & a¥lay g1 g C o 39 300 ¥4 5, 97T A & I F4r 87

Options:

1. % 200 w=
2. ¥ 150 =
3 % 100 w0
4, % 250 w7

Question Number : 96 Question Id : 9662315706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Aman’s salary is increased by 20% every year. If after 2 years his salary becomes Rs. 5184, then what was his
initial salary?

Options:

1. % Rs. 2000
2. % Rs. 2500
I % Rs. 200

4. % Rs. 3000



Question Number : 96 Question Id : 9662315706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S HT T U T 20% T agdr g A 3 o WA I M 5184 T §, 97 4F § IHHT 7 4 o

Options:

1. % 2000 s
2. % 2500 w0
3. % 2800 T

4. % 2000 T

Question Number : 97 Question Id : 9662315707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cost price of an article is Bs. 450, If it is s0ld at a profit of 40%, then what will be the selling price of the article?

Options:

1. ¥ Es. 650
2 % Rs 810
3. ¥ Es. 630
4 % Rs 6880

Question Number : 97 Question Id : 9662315707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Teq, 1 F g 450 T 81 Il 38 40% & AT UT =27 ST &, 1 aeg &7 e gr a7 gI?

Options:
1. % gE0 &

o % 510w
= ¥ G20 T
4 ® 250 O

Question Number : 98 Question Id : 9662315708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the cost price of a watch is 87 .5% of its selling price, then what is profit percentage?

Options:

1. % 15 percent

2. % 1666 percent
3. ¥ 14 28 percent
4 % 12E percent

Question Number : 98 Question Id : 9662315708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe U TS F FT Grd IHE 0w  od ® 87.5% 8, a7 51 Wi ad 747 57

Options:
1. % 15 gidad

> ® 1566 UldaT
=z ¥ 14 28 uiaaT



4 ® 12 cuidad

Question Number : 99 Question Id : 9662315709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& purchased a book: for Bs. 400 and sold it to B at x% profit. B sold it to C at x% 1oss and  paid Es. 396 t0 B,
What is the value of %7

Options:
1. % 9
2. % 8
2. ¥ 10
4 % 5

Question Number : 99 Question Id : 9662315709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T ToaTa 400 02 &1 GieaT § 99T 39 B F x% ATH W adT 81 B 39 C T 3% 51+ W o=dT & 797 C, B & 396 704 247 &1
3 T AT o747 27

Options:
1. %9
2. % g
3.9 10
4 % g

Question Number : 100 Question Id : 9662315710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 2a: 2b:8c =1:2: 3 then what is the value of a: b C7

Options:

1.¥v3:4:3
2. % 1:2:9
3% 2:3:9
4 % 4:3:6

Question Number : 100 Question Id : 9662315710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Aigza: b 6c=1:2:38 da: b cHMEra a7

Options:
1.¥3:4:3
2. % 1:3:9
I W2 209
4 % 4:3 8
Arithrmetic Ability2
Group Number : 6
Group Id: 96623179

Group Maximum Duration : 0



Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability 2

Section Id : 966231194

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 966231204
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662315711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A certain amount is divided among P,Q and R in the ratio of 2 : 3 : 6 respectively. If the total amount is Bs.
12200, then what is the share of P?

Options:

1. * Rs 2600
= ¥ Rs 2400
2. % Rs 2200
4 % Rs 4000

Question Number : 101 Question Id : 9662315711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T Oist BTP, O TR F HET A 20 3 0 6 FF ST aiel AT g1 Iig e 13200 w0k g, T P & Gear #2487

Options:
1. % Ze00 s

= W 2400 w0
= ¥ 3200 w0
4. % 4000 0

Question Number : 102 Question Id : 9662315712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Cost of 7 pens and = books is equal to the cost of 2 pens and 15 books. What is the ratio of cost of 4 pens and
Z books?

Options:

1. % 5:5
2. % 4.1
I % 75
4 ¥ E:1

Question Number : 102 Question Id : 9662315712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
7 Tl 797 3 e ® G5, 3 F0 39T 15 ReaTe o god & aXEy o 4 el 99T 2 rdTe & ged 1 ST 99T 87

Options:

1. % 6:5
2. % 4.1
3% 7.5
4 ¥ E:1

Question Number : 103 Question Id : 9662315713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat will be the compound interest on a surn of Rs. 2000 for 2 yvears at the rate of interest Z0% per annurm?

Options:

1. ¥ Rs 1380
2. % Rs. 1240
2. % Rs 1520
4 % Rs 1640

Question Number : 103 Question Id : 9662315713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 2000 F0F T 0 20% Wid O & 52T 2% & SF auT T =gy s aT F4T 5T

Options:
1. % 1380 =02

o B 1240w
3 ® 15Z0 w0
4 ¥ 1540 w4

Question Number : 104 Question Id : 9662315714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e TS STl ST o1 GF © 6 o1 H o< i ST 51T 81 Tora ot # g Tarl & 4 A7 51 e
Options:

1. % 189§

o ® 249y

3 % gad

4 ¥ 1294




Question Number : 104 Question Id : 9662315714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A surm becomes double of itself in & years at the rate of compound interest. In how many years it will becomes
4 tirmes of itself?

Options:

1. % 18 vears
2. % 24 vears
3. % Byears
4. 9 12 vears

Question Number : 105 Question Id : 9662315715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rarm deposit a sum of Bs. 8000 in a bank at the rate of 10% per annum simpler interest. Shyam deposited RS
10000 at the rate of 8% per annum compound interest. What will e the difference between their interests after
twO years?

Options:

1. % Es 80
2 % REs 76
3. ¥ Es. 64
4 % Rs B0

Question Number : 105 Question Id : 9662315715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T = T S000 T 6 €018 @1 10% Wida & Jrem =am 2% & o@ H FAT fTham S = 10000 T & 7018 &1 8% Widad &
TF g, 50T 2% © STAT Toram ST O WaTd I9F a7 o o & S7a¢ 4T §Ie

Options:

1. % 50 ¥
2 % 76w
3 ¥ 64 T
4. % 50w

Question Number : 106 Question Id : 9662315716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& rman walks at a spead of 8 lanjh. How rmuch time will he take to cover a distance of 24 kmand 800 metres?

Options:

1. % 12360 sec
2. % 10000 sec
2. ¥ 11160 seC

4. % 10480 sec

Question Number : 106 Question 1d : 9662315716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T i 3 e AT TET Y I & =T 1 U 24 T A 0T 800 HT @i G a4 e # R wwer e
Options:

1. ® 12260 HgUZ




= % 10000 davg
=z & 11160 dwvs
4 ® 10480 4w

Question Number : 107 Question Id : 9662315717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& man covers a distance of 1800 metres in & seconds. What is the Speed of man~

Options:

1. #® 10 kmjhr
2 % 180 km/hr
3. ® SOkmihr
4. % 100 km/hr

Question Number : 107 Question Id : 9662315717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AIGHT T 1500 HITE @i G 5 @a0s H T2 @dT 51 STSH! 1 Tid 747 57

Options:

1. % 10 fp ot ger
2. % 180 WAL fueT
3. % S0 WA e

4 100 fEdt raer

Question Number : 108 Question Id : 9662315718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& train of length 1300 metres moves at a speed of 120 m|s. How long will it take to Ccross another train of
lerigth YO0 rmetres moving in same direction at 80 /sy

Options:

1. % B0 sec
2 % 40 sec
3. ¥ S0 sec

4 % GF sar

Question Number : 108 Question Id : 9662315718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1300 Hiey fd 0F feaT 120 A 6F0s &1 T & I@d 1 5 GAF GaT | 80 1 | S9 & T & 97 51 0 700 He @l
TATIET T ag Feae w6 B O a oy

Options:

1. % g0 ¥Fr=
2. ® 40 g
3. ¥ 50 s
4. % S5 umrg

Question Number : 109 Question Id : 9662315719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A& alone and B alone complete a piece of work in 10 days and 15 days respectively. If they both work together
and get paid Es. 1500, then what 15 A's share?

Options:

1. % Rs 600
2. % Hs. 800
3. ¥ Rs 900

4 % Hs 1200

Question Number : 109 Question Id : 9662315719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A STHET TTE 15T U & &1 w0 10 73 320 15 e # o 9ard 81 Tl o ST U0 9T @12 ad & 997 3w 1500 #03
Toed §, a7 A &7 EeaT T 27

Options:

1. % 500 w2t
o % 500 T
3. ¥ 900 T

4 ¥ 1200 g

Question Number : 110 Question Id : 9662315720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

working 8 hours a day, 9 men complete a work in 20 days. In how many days can 12 men do 2(5th of the
sarme work, working 3 hours a day?

Options:

1. % 2z days
Z ¥ 16 days
2. % 45 davs
4. % 25 days

Question Number : 110 Question Id : 9662315720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wi e & o 1 @eh, 9 SEHT U ®19 @l 20 T # [ 9 81 Widfed 3 o &1 g, 12 et a8 &4 &7 25 ToFa Tgd
H T W w5

Options:

1. % 3287
o v 16 e
3 % 48T
4 % 2o fad

Question Number : 111 Question Id : 9662315721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& can cultivate 1/4th of a land in 2 days and B can cultivate 2[/4th of the same land in 4 days. If they both
work together, then how many days will they take to cultivate 3/ 4th of the same land?

Options:
1. % 6713 days
Z ¥ 54113 davs



3. % 66/13days
4 % 53/13days

Question Number : 111 Question 1d : 9662315721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AUFTAAT 14, 2 BAT TT GFaT 5 TUTE TAW TR T 29, 4 BA H TT w1 g1 Il 3 41 UF a7 & #ed 5, 91
A THA T 3| 4 T e o T 7 d &7

Options:

1. % g7j1z T
o ¥ 5413
3 % g5l1z A
4 % 5313 fe

Question Number : 112 Question Id : 9662315722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the square root of 00000517

Options:

1. %® 003

= ¥ 0003
3% 09

4. % 000008

Question Number : 112 Question Id : 9662315722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
0.000081 &7 aTige 2T 27

Options:
1. % 008
2. ¥ 0009
3% 09

4. % 0.00009

Question Number : 113 Question Id : 9662315723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The radius of the base of a cone is 2 cm If the height of the cone is 4 cm, then what is the curved surface area
of the cone?

Options:

1. ¥ 4714 cm®
2. % 50,14 cm?
3. % 60.14 cm?

4 % 7014 cm?

Question Number : 113 Question Id : 9662315723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T A W ST 1 T 3 AT 8 At g G 4 WAL R, a7 A o aw g JAme 3 g7



Options:
1. v 47 14 &2

> % 5o 149d?
2 % g 148
4 % 70148072

Question Number : 114 Question 1d : 9662315724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of length, breadth and height of a cuboid is & 3 : 2. If the volurme of the cuboid is 6480 cm3, then
what is the total surface area of the cuboid?

Options:

1. % 1634 cm®
2. ¥ 2232 cm®
3. % 1814 cm®

4. % 1706 cm®

Question Number : 114 Question Id : 9662315724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g?iﬁ‘ﬂ:!mfﬁﬁiﬂ'lﬁ =T T SaE AT AU 5 ¢ 3 : 2 31 A7 O &7 STeE 6480 HHS B 71 O W7 el [ S

Options:

1. % 1634 #.12
o ¢ 2232 A2
3. % 1814 407
4. % 1706 &7

Question Number : 115 Question Id : 9662315725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart given below shows the nurmber of dot ball played in various yvear by the player. The nurmber dot
balls is shown as a percentage of total number of dot balls played in all the years.

If the total number of dot balls played is 1200, then what is the number of dot balls played in year Y47
Options:
1. % 250

2. % 275
2. % 350



4. ¥ 450

Question Number : 115 Question Id : 9662315725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et oy Ty o o W TS 9t o T O AT g el T ST oA @ g i 81 2T 16 ® 1 adt et f Wit e e 277
ATeT o Wie T oF & | ariar 7 2
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/ 25% %

AN

afe Fet TAT 2T &1el b1 HEAT 1200 2, T4 T4 H Hell 715 ST ol ol ST #47 7
Options:

1. % 250

o ® 275

3. % 350

4. ¥ 450

Question Number : 116 Question Id : 9662315726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of students appeared in an exam in various years.

@ 500 - e,
T 400 -

= 300

& 300 -

- 200

S 200 - ” :

2 1 100

g 100 4

2 LT

YI Y2 Y3 Y4 Y5
Year

Wwhat 15 the total number of students that appearad in examin vear Y2, ¥4 and Y57
Options:

1. % 700

= % BO0

3.9 900

4. % 1000

Question Number : 116 Question Id : 9662315726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 700

2. % 500

3. ¥ 900

4 % 1000

Question Number : 117 Question Id : 9662315727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the numiber of train departured from the railway station in five days.

Day Trains Departure
D1 20

D2 23

D3 22

D4 24

DS 23

Nurmber of trains departed on day D1 is what percentage of the total number of trains departed in 5 days?
Options:

1. % 17.54 percent

2. % 19 percent

% % 19.54 percent

4. % 205 percent

Question Number : 117 Question Id ;: 9662315727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e 1 TE aTfererT ot T e o U (A T o W e aTe T TS S T T garid g

CL T 9T
D1 20
D2 23
D3 22
D4 24
D5 25

D1 T # wee o ATt emmie ! @ 6, 5 oA # UeTs Fe aiett g (el g ST & AT Wi s 57
Options:

1. % 17.54 nidea

o, % 19ndeaT

3 % 1954 nidem

4 ® 205 uidad

Question Number : 118 Question Id : 9662315728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of cars sold by the company in various years.

600 e
SO0
200 4
400 4

300

200
100

Numbers of cars sold

e

Y1 Y2 Y3 Y4 YS
Year

what is the ratio of cars sold in years ¥1 and Y= to the cars sold in years ¥2 and Y47
Options:

1. # 5.8

2 ¥E5: 11

3% 115

4 % 118

Question Number : 118 Question Id : 9662315728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. %55

2 ¥5:11

z % 11:5

4 % 11:8

Question Number : 119 Question 1d : 9662315729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart given below shows the various expenses incurred by a Cornpany in various departrnents. The
expenses incurred are shown as the percentage of total expenses incurred.

If the total expenses incurred by the company is BEs. 10000, then what is the expenses incurred by the
cormpany in department D47

Options:
1. # Rs. 3000

2. ¥ Rs 700
3. % REs. 800
4. % Rs 900

Question Number : 119 Question Id : 9662315729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ 2000 70

o % 700 w0
3 ¥ g00 w0
4 ¥ 900 w0

Question Number : 120 Question Id : 9662315730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the nurmnber of persons visit ternples on four days.

= 500 A 450
S 400 - ]
fﬂ' 300 4 300 300

&

200 - _150

tl' 100 - ﬂ

= 0 L : - :

E D1 D2 D3 D4
. Day

Wwhat 15 the difference betveeen the nwmber of persons who visited termples on day D1 and D4?
Options:

1. % z00

Z % 250

3. ¥ 200

4. % 350

Question Number : 120 Question Id : 9662315730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 200
= % 250
3.9 300
4 ® 350
eneral Englishl
Group Number : 7
Group Id: 96623180
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Ceneral Englishl
Section Id : 966231195
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 966231205
Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 9662315731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Ev niow, rmy (1) | brother would hawe (2) [ left for Mumbai (3) [, No error (4)
Options:
1.%1
e %2
3. %3
4 ¥ 4

Question Number : 121 Question 1d : 9662315731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Ev now, my (1) | brother would hawve (2) [ left for Mumbai (3) . No error (4)
Options:
1.%1
2 % 2
3 %3
4 ¥ 4

Question Number : 122 Question Id : 9662315732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the fOllO‘.ﬁ.i"iﬂg Senternces contain an error?

Options:

1. ®* Her mother is angry with her.

= % She will come to my house this evening.
2. # My brother is behind me always.

4. % You will not 2o out even vou cormplete your hormneworlk:

Question Number : 122 Question 1d : 9662315732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following sentences contain an error?

Options:

1. % Her mother is angry with her.

2. % She will come to rmy house this evening.
2. % My brother is behind me always.

4. % You will not 2o out even you cornplete your hormework

Question Number : 123 Question Id : 9662315733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Kajal 1sn't doing (1) [ well in her class, (2) | does she? (3) | Mo error (4)
Options:



1 % 1
R
2. v 3
4. % 4

Question Number : 123 Question 1d : 9662315733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘MNo error’.

Kajal isn't doing (1) [ well in her class, (2) [ does she? (2) [ No error (4)
Options:
1.%1
2 %2
3. ¥ 3
4 % 4

Question Number : 124 Question Id : 9662315734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identif;:.r the sentence which doesn’t have an error.

Options:

1. % Do yvou call this person an angry young rman?

Z % The competing teams is meeting in the National-3tadium today.
3. # Jayis not a ferocious fighter.

4. % We do experience some April showers.

Question Number : 124 Question Id : 9662315734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the sentence which doesn’t hawve an error.

Options:

1. % Do you call this person ar angry young man?

2. ¥ The competing teams is meeting in the National-5Stadium today.
2. % Jay is not a ferocious fighter.

4. ® wWe do Experience sore April showers,

Question Number : 125 Question Id : 9662315735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Faji1s (1) [ most obedient (2) | than Ajay (3). Mo error (4)
Options:
1.%1
2. ¥z
3. %3
4. % 4



Question Number : 125 Question Id : 9662315735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose Mo error’,
Fajis (1) [ most obedient (Z2) [ than Ajay (3). No error (4)

Options:
1.%1
2 V2
3 %3
4 % 4

Question Number : 126 Question Id : 9662315736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The father had to (beat) the stubborn child.
Options:

1. # beating

2. % iz beating

3. % was beat

4.9 Mo improvernernt

Question Number : 126 Question Id : 9662315736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

The father had to (beat) the stubborn child.
Options:

1. * beating

= % iz beating

3. % was beat

4. % No improvermnernt

Question Number : 127 Question Id : 9662315737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

I (wishes) you could understand me better.
Options:

1. ® wishing

2. 9 wish

2. % iz wish

4. % No improvernent

Question Number : 127 Question 1d : 9662315737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

I (wishes) vou could understand me better.
Options:

1. * wishing

2. ¥ wish

2. % iz wish

4. % MNoimprovernent

Question Number : 128 Question Id : 9662315738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The guava tree did not (bear) any fruit this month.
Options:

1. % bore

2. % bearing

2. % bears

4. ¥ No improvermnernt

Question Number : 128 Question Id : 9662315738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The guava tree did not (bear) any fruit this month.
Options:

1. % hore

2. % bearing

= % bears

4. % No improvernent

Question Number : 129 Question 1d : 9662315739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Cmls can [detecting) and catch their prey in total darkness by scund.
Options:

1. * detects

2. ¥ detect

2 % detectad

4. % MNoimprovernent

Question Number : 129 Question Id : 9662315739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Cmrls can ([detecting) and catch their prey in total darkness by scund.



Options:

1. % detects
= ¥ detect
2 % detected

4. # DNo improvernent

Question Number : 130 Question Id : 9662315740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence,

A upholder of truth never (hesitate) to speak frankly.
Options:

1. ¥ hesitates

2. % hesitating

3. % i3 hesitating

4. % Do improvernent

Question Number : 130 Question Id : 9662315740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

An upholder of truth never (hesitate) to speak frankly.
Options:

1. ¥ hesitates

2. % hesitating

2. % is hesitating

4. % MNoimprovernent

Question Number : 131 Question Id : 9662315741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

¥ou should not be getting to this variety of shirts.

Options:
1. % yse

2. % uses
=% used

4. % using

Question Number : 131 Question Id : 9662315741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

You should not be getting
Options:
1. % use

to this variety of shirts.



2. % uses
= ¥ used

4. % using

Question Number : 132 Question Id : 9662315742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

e will be back ______ next week,
Options:

1. % with

2. % to

2. by

4 % at

Question Number : 132 Question Id : 9662315742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

e will e baclk ______ next weelk,
Options:

1. % with

2. % to

3 ¥ by

4 % at

Question Number : 133 Question 1d : 9662315743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Our English teacher is sitting the staff room.
Options:

1. % with

2. ¥ in

3% at

4. % under

Question Number : 133 Question Id : 9662315743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

Our English teacher is sitting ______ the staff room.
Options:

1. % with

= ¥ in

3% at



4. % under

Question Number : 134 Question Id : 9662315744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

You muast ______ vour hostel room by today evening.
Options:

1. ¥ vacate

2. % vacates

3. % yacating

4. % vacated

Question Number : 134 Question 1d : 9662315744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

You rmust ______ wour hostel room by today evening.

Options:
1. ¥ vacate

2. ® yacates
2. % yacating

4. % vacated

Question Number : 135 Question Id : 9662315745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

EBe cautious ______ wour night journey.
Options:

1. * towards

2. % at

2. ¥ during

4. % in

Question Number : 135 Question Id : 9662315745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Be cautious vour night journey.

Options:

1. % towards
2. % at

2. ¥ during

4 % in



Question Number : 136 Question Id : 9662315746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

Wwhere do we sit for ______ usual chit chat?

Options:
1. % ourself

2 % our
3. % purselves

4. # thernselves

Question Number : 136 Question 1d : 9662315746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Where do we sit for ______ usual chit chat?

Options:
1. % ourself

2 % our
3. % ourselves

4. # thernselves

Question Number : 137 Question Id : 9662315747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Do you dare to go out in the darkall by ______ 7
Options:

1. % yourself

2. % myself

3. % yourselves

4. % himself

Question Number : 137 Question Id : 9662315747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Do vou dare to go cutinthe darkallby ______ 7

Options:
1. ¥ yourself

2. % myself
= ® yourselves

4. % himself

Question Number : 138 Question 1d : 9662315748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an appropriate article. Choose the correct alternative.

Your elder brother is ______ captain of the hockey team.
Options:

1. ®a

2. % an

3 ¥ the

4. % no article is required

Question Number : 138 Question Id : 9662315748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate article. Choose the correct alternative.

Your elder brotheris ______ captain of the hockey team.
Options:

1. %a

2. % an

2 ¥ the

4. % no article is required

Question Number : 139 Question Id : 9662315749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: or you

2 wou take

E: this book

5: take nothing

Options:

1. % QPSR
2. % QRFS
2. % QSREP
4 % PORS

Question Number : 139 Question Id : 9662315749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: or vou

i wou talke

E: this bool:

5: take nothing

Options:

1. % QPSR
2. % QRFS
2. % QOSREP



4. % PORS

Question Number : 140 Question Id : 9662315750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Sut of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: to the problem

10 Cne

E: an immediate solution
% could find

Options:

1. ¥ OSEP
2. % QRPS
2. % PORS
4. % PROS

Question Number : 140 Question Id : 9662315750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Sut of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: to the problem

10 Cne

E: an immediate solution
% could find

Options:
1. % GSEP
2. % QRPS
3. % PORES
4. % PROQS
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Question Number : 141 Question Id : 9662315751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: award cerernony
- at the

E.: were present

5. all the winners

Options:

1. ¥ SROP
2. % PORS
2. % SQPR
4. % SRPQ

Question Number : 141 Question Id : 9662315751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: awmard cerernony
) at the

E.: were present
5:all the winners

Options:

1. ¥ SROP
2. % PORS
2. % SQPR
4. % SRPQ

Question Number : 142 Question Id : 9662315752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of them is a synonym - antonym pair?
Options:

1. % Captivate—offend



2. % Authentic-reliable
3. % Deadly-fatal
4 % Confine-lirmit

Question Number : 142 Question Id : 9662315752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of them is a synonym - antonym pair?

Options:

1. ¥ Captivate-offend
= % Authentic-reliable
2. % Deadly-fatal

4 % Confine-lirmit

Question Number : 143 Question 1d : 9662315753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
—hoose the word that means the same as the given word.

Culprit
Options:

1. % Prey

2. # Target
3. ¥ Criminal
4. % Viction

Question Number : 143 Question Id : 9662315753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Culprit
Options:

1. # Prey

= % Target
2. ¥ Criminal
4. % Viction

Question Number : 144 Question Id : 9662315754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that 1s opposite in meaning to the given word.

Eizarra
Options:

1. % Wicked
= % Corrical
3. % Invalid
4. % Crdinary



Question Number : 144 Question 1d : 9662315754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Eizarre
Options:
1. % Wicked
2. ® Corrical
3. % Invalid

4. % Crdinary

Question Number : 145 Question Id : 9662315755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Tactful

Options:

1. % Cheat

= % Diplomatic
3. % Indelicate
4 % Alive

Question Number : 145 Question Id : 9662315755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

Tactful

Options:

1. % Cheat

2. ¥ Diplomatic
2. * Indelicate
4 ® Alive

Question Number : 146 Question Id : 9662315756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Diligent

Options:
1. # Duel

2 % Earnest
%9 [dle

4 % Laborious

Question Number : 146 Question Id : 9662315756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Diligent
Options:

1. % Duel

2. % Earnest
2. ¥ Idle

4. % Laborious

Question Number : 147 Question 1d : 9662315757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Decipher
2. % Dacipher
2. % Decifer

4. % Desipher

Question Number : 147 Question Id : 9662315757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Decipher
2. % Dacipher
2. % Decifer

4. % Desipher

Question Number : 148 Question Id : 9662315758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Powerfull

= % Changeahble
2. % Trensparent
4 % Aplicable

Question Number : 148 Question Id : 9662315758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Powerfull



2. ¥ Changeable
3. % Trensparent
4. % Aplicable

Question Number : 149 Question Id : 9662315759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. % Terminate
2. % Insignificant
3. ¥ Particuler

4. % Lethargic

Question Number : 149 Question 1d : 9662315759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. % Terminate
Z % Insignificant
2. ¥ Particuler

4. % Lethargic

Question Number : 150 Question Id : 9662315760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the most appropriate option.

The police was
Options:

1. * bag and baggage
= % fitas a fiddle

2. ¥ at the heels of

the flesing crirminal.

4. % 3 blessing in disguise

Question Number : 150 Question Id : 9662315760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the most appropriate optiorn.

The police was the flesing criminal.

Options:

1. % bag and baggage
2. % fitasa fiddle

2. ¥ at the heels of

4. # 5 blessing in disguise



Question Number : 151 Question 1d : 9662315761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Acid Test

Options:

1. % A severe and a conclusive test

2. % A poOr point

2. #® One becorming cautious after an unhappy experience

4. % Drearns about the future

Question Number : 151 Question Id : 9662315761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Acid Test

Options:

1. ¥ & severs and a conclusive test

= % A poor point

3. % One becoming cautious after an unhappy experience

4. % Dreams about the future

Question Number : 152 Question Id : 9662315762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose an option that best suits the blank.

Getting through the entrance examination is
Options:
1. #* in cold blood

for my son.

2. % in camera
2 ¥ 3 cale walk
4. % 5 black spot

Question Number : 152 Question Id : 9662315762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Choose an option that best suits the blank.

Getting through the entrance examunation 15
Options:

1. %* in cold blood

2. % in camera

2. ¥ a cake walk

4. % g black spot

for my son.



Question Number : 153 Question Id : 9662315763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Act of monopolizing in a meeting.
Options:

1. % Yokel

2. ¥ Domination

3. # Bandit

4. % Affinity

Question Number : 153 Question 1d : 9662315763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

Act of monopolizing in a meeting.
Options:

1. % Yokel

2. ¥ Domination

2. % Bandit

4. % affinity

Question Number : 154 Question Id : 9662315764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Healthy, sound and kicking.
Options:

1. % Wibrant

Z % Chamelecon

3. % Advocate

4 % Srandal

Question Number : 154 Question Id : 9662315764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Healthy, sound and kicking.
Options:

1. ¥ Vibrant

2. % Chamelecn

3. #® Advocate

4 #* Srandal

Question Number : 155 Question 1d : 9662315765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the sentence that best substitutes the word.

Zarnpaign

Options:

1. % A& short wise saying

2. % Anarmed robber

3. % Slow and untidy progress

4. % Political platform speech

Question Number : 155 Question Id : 9662315765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
—hoose the sentence that best substitutes the word.

CAarmpaigr

Options:

1. # A short wise saying

2. % An armed robber

2. % Slow and untidy progress
4 % Political platform speech

Sub-Section Number: 2
Sub-Section 1d: 966231207
Question Shuffling Allowed : Yes

Question Id : 9662315766 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Fead the following information carefully and answer the given questions.

Angela Dorothea Merkel is a German politician serving as Chancellor of Germany since 2005, She served as the
leader of the centre-right Christian Democratic Union (CDU) from 2000 to 2015, Merkel has been widely
described as the de facto leader of the European Union, the most powerful woman in the world, and by many
corramentators as the leader of the Frees World.

Merkel was born in Hamburg in then-West Germany and moved to East Germany as an infant when her

father, a Lutheran clergyrman, received a pastorate in Perleberg. She obtained a doctorate in quantum
chemistry in 1986 and worked as a research scientist until 1989, Merkel entered politics in the walke of the
Revolutions of 198% and briefly served as a deputy spokesperson for the first democratically elected East
German Government headed by Lothar de Maiziere in 1990, Following Gerrnan reunification in 1990, Merkel
was elected to the Bundestag for the state of Mecklenburg-Vorpommern and has been re-elected ever since. As
the protégee of Chancellor Helrmut Kohl, Merkel was appointed as the Federal Minister for Wornen and Youth in
Kohl's governument in 1991 and became the Federal Minister for the Environment, Nature Conservation and
MNuclear Safety in 1994, After her party lost the federal election in 1995, Merkel was elected Secretary-General
of the CDU before becoming the party's first female leader two vears later in the aftermath of a donations
scandal that toppled Wolfgang Schauble.

Following the 2005 federal election, Merkel was appointed Germany's first fermale chancellor at the head of a
grand coalition consisting of the CDU, its Bavarian sister party the Christian Social Union (2510, and the Social
Democratic Party of Germany (SPD). In the 2009 federal election, the CDU obtained the largest share of the
vote, and Merkel was able to form a coalition government with the Free Democratic Party (FDP).

Sub questions



Question Number : 156 Question Id : 9662315767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For how many years did Angela serve as the leader of the centre-right CDU?

Options:
1. % 25
2 ¥ 18
3% 17
4 % 19

Question Number : 157 Question Id : 9662315768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which wear did she obtain a doctorate in quanturmn chemistry?

Options:

1. % 1989
Z % 1987
3. % 1994
4. ¥ 1926

Question Number : 158 Question Id : 9662315769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who headed the East German Governmernt in the year 19307

Options:

1. % Angela Merkel

2. ¥ Lothar de Maiziers
3. % Helrmut Kohl

4. # Mo option 15 correct

Question Number : 159 Question Id : 9662315770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that best substitutes the line.

A person who gives reviews o1l 8 test or o an event.
Options:

1. #¥ Clergyman

2. % CQuanturm

3. ¥ Cormmentator

4. % INo option is correct

Question Number : 160 Question Id : 9662315771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the wiord that means the same as Pastorate,

Options:
1. ¥ Office of a clergyman

2. % Inion



. % Coglition

4 = Chancellor

Question Id : 9662315766 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

Angela Dorothea Merkel is a Gerrman politician serving as Chancellor of Germany since 2005, She served as the
leader of the centre-right Christian Dernocratic Union (ZDU) from 2000 to 2018, Merkel has been widely
described as the de facto leader of the European Union, the most powerful woman in the world, and by many
corrrmentators as the leader of the Free World.

Merkel was born in Hamburg in then-west Germany and moved to East Germany as an infant when her

father, a Lutheran clergymar, received a pastorate in Perleberg. She obtained a doctorate in quanturm
chemistry in 1986 and worked as a research scientist until 1989, Merkel entered politics in the wake of the
Revolutions of 198% and briefly served as a deputy spokesperson for the first democratically elected East
German Government headed by Lothar de Maiziére in 1990, Following German reunification in 1990, Merkel
was elected to the Bundestag for the state of Mecklenburg-Vorpormmern and has been re-elected ever since. As
the protégee of Chancellor Helrmut Kohl, Merkel was appointed as the Federal Minister for Wormen and Youth in
Kohl's government in 1991 and becarmme the Federal Minister for the Environment, Nature Conservation and
MNuclear Safety in 1994, After her party lost the federal election in 1995, Merkel was elected Secretary-Gereral
of the CDU before becoming the party's first female leader two years later in the aftermath of a donations
srandal that toppled Wolfgang Schiuble.

Following the 2005 federal election, Merkel was appointed Germany's first female chancellor at the head of a
grand coalition consisting of the CDU, its Bavarian sister party the Christian Social Union (251, and the Social
Dernocratic Party of Germany (SPD). In the 2009 federal election, the CDU obtained the largest share of the
vote, and Merkel was able to form a coalition government with the Free Democratic Farty (FDP).

Sub questions

Question Number : 156 Question Id : 9662315767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For how many years did Angela serve as the leader of the centre-right CDU?

Options:
1. % 25
2. ¥ 18
= % 17
4 % 19

Question Number : 157 Question Id : 9662315768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Ir1 which wear did she obtain a doctorate in quanturmn chemistry?

Options:

1. % 19539
Z. % 1987
30% 1994
4 ¥ 1986

Question Number : 158 Question Id : 9662315769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who headed the East German Government in the year 19307

Options:



1. ® Angela Merkel
2 % Lothar de Maiziere
= % Helrmmt Kohl

4. % MNo option is correct

Question Number : 159 Question 1d : 9662315770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that best substitutes the line.

A person who Zives reviews O a test Or On an event.
Options:

1. % Clergyman

2. ® Cmantum

3. % Commentator

4. # Mo option 15 correct

Question Number : 160 Question Id : 9662315771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that means the same as Pastorate.

Options:

1. % Office of & clergyman
= % Union

3. % Coalition

4. % Chancellor

Zeneral Hindil

Group Number : 9
Group Id : 96623182
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindil

Section Id : 966231197
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20

Number of Questionsto be attempted: 20



Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231208
Question Shuffling Allowed : Yes

Question Number : 161 Question 1d : 9662315772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & w9 A Sae R i @ gt i

Options:

1. % [Ig w1 Sy wEt 1 am
2. % oH o et ST gel

3. % T ATET A 1T 5

4, ¥ TG T8l

Question Number : 161 Question Id : 9662315772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T # W B A7 IR T e @ g £
Options:

1. % [igd @ Fage wdt Fe7 2m

2. % oo S et ST ge

% % T ATET WA TET R

4. ¥ Tgel T

Question Number : 162 Question Id : 9662315773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeET # & B A7 e PRI G- H Ja050 57

Options:
1.9 3a
o %A
3 % g
4 ® 0

Question Number : 162 Question Id : 9662315773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 8 & B 9T Jeg, FRaaTEE ST H 355 oY

Options:
1. v Ia
o % o
3. % e
4 ® 0



Question Number : 163 Question Id : 9662315774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeuT T AT H AT oF SR U T T e 10 0T i o e

Options:

1. % fiar
o  fEm
z % TEE
4. ¥ dEma

Question Number : 163 Question 1d : 9662315774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty AR F T o SR 0 T T ek T T g o e

Options:

1. % dfar
o  em
3 % e
4. % dEmT

Question Number : 164 Question Id : 9662315775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tamr T areg T AT Hewe dR

GIEZLI
Options:
1. % e + womr
= ¥ W 4 T
3. % F@lw + g
4. % FET + woT

Question Number : 164 Question Id : 9662315775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I SreT T T fHte
FATET

Options:
1. % @y + wory

2 & W 4 T
2. ® FHiw 4 g
4 % T+ 9T

Question Number : 165 Question Id : 9662315776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



oy ™y areg & ATE 3 w0 & uge

Bt

Options:

1. 1o &
2, % ghg gher
3 % Iref At
4. % o7 T

Question Number : 165 Question Id : 9662315776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr Ty ateg  HTE I w0 & Ugee e

T

Options:

1. urEfer
2. % ghg gt
3. % grfHrE
4. % o7 {iY

Question Number : 166 Question Id : 9662315777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaETET # & B 47 Meg, 900 Mg 57
Options:

1. feges

2 % T

3 % 0T

4 ¥ T

Question Number : 166 Question Id : 9662315777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
AT § F B 47 Jeg Jo0H Mg o7
Options:

1. foag

2. ® e
3 % OT
4. ® T

Question Number : 167 Question Id : 9662315778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TmET § | @ a1 g o - Tt aeg @ ARl 87

Options:
1. % @7 - AR
2 % fZear-aq

3. ® UMY - Sge



4. ¥ T - Twe

Question Number : 167 Question Id : 9662315778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl & & ®17 ar gm 2o - 3t g7 w1 g1 87
Options:

1. ® @w - At

o ® fEear-3A

3. % omET - SEe

4 v FT - fwT

Question Number : 168 Question Id : 9662315779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaicET seal # & e =g | Iuet 37

Options:

1. ¥ e
Z ¥ RN

3. ¥ TR

4, % mETE

Question Number : 168 Question Id : 9662315779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FfeET geal o 9 fore geg o Fuar 27
Options:

1. ® Eameg

2 ¥V IER

= ® R

4, ® @Rl

Question Number : 169 Question Id : 9662315780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T =T T uewd AT AT

Teod
Options:
1. % T
2 % od
3 ¥ o
4 % 7

Question Number : 169 Question Id : 9662315780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 T STeT T Wead ST i

B



Options:
1. % 9d
o oo
=
4 % 7

Question Number : 170 Question Id : 9662315781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T e U T g A e
T g

Options:

1. % 17 &1 gigom

o % e g e
3. % 1 o g

4 ¢ T TG f

Question Number : 170 Question Id : 9662315781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ta T e U @ fEy A e
T E g

Options:

1. % 17& &t gigom

o % e ¥ g i
3. % 1 o e

4 ¥ TE T E R

Question Number : 171 Question Id : 9662315782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T SeT T T A e

ETUl
Options:

1.9 g
2. % mree
3 % P
4 & i

Question Number : 171 Question Id : 9662315782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o T aTeg, T T4 AT ST
Fad

Options:

1. ¥ maq



2. % mrer
3 % o
4 ® ol

Question Number : 172 Question Id : 9662315783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T STeg @ T deg AT diFAW

FH

Options:

1. % mgd
2 ¥ o

3. % oA
4. ® gEge

Question Number : 172 Question Id : 9662315783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 areg @7 AT e A

Rk

Options:

1. % mgd
2 ¥

ERR T
4 ® g

Question Number : 173 Question 1d : 9662315784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Iy et T AET anf w@ FR
g1 - g

Options:

1. % e - @7 FaT
2. % er-gm

3. % g - gt

4. % gU-3IW

Question Number : 173 Question Id : 9662315784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Taur 7 sreqt @7 \ET arf AT HI
ore - o

Options:

1. e - ST F3T

z. % gy-agm

3. % gu-agl



4 % TU-IE

Question Number : 174 Question Id : 9662315785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta my ATt & oy ue geg A9 F

ST TRt A T WEWEH IAET BN
Options:

1. % wEmna

= % UOHAT

3. % o wed @

4. ¥ ggAT

Question Number : 174 Question Id : 9662315785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Temr T ETerrTar & oY U s A i

AT TeFET A T WEWH IAET RN
Options:

1. % AT

2. % moHAT

3 ® e ved @

4. ¥ FgAT

Question Number : 175 Question Id : 9662315786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ™ sregt 3 T w7 ARl arf AT
HTgTT - i

Options:
1. ga ® afet - gamT
2. % gAMT - gad | "t

3. ® gAMET - TF ZTEA

4. ® TE ZTAAT - el =T

Question Number : 175 Question Id : 9662315786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

[CURISE EA R A E R G
I - ST

Options:

1. ¢ g # gl - gaAmT

2 % g - gad H Ffet

3. % gAMT - TF ST

4. ® T ZTEAT - o= T



Question Number : 176 Question Id : 9662315787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i o & @ A ot @7 aueE geg T 87
Options:

1. % ®H

o ¥ T

3 % =@
4 % AT

Question Number : 176 Question Id : 9662315787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tty & & &1 a1 ai=T @7 gAe aeg 98t 87
Options:

1. % &/

o  faa

3 % =
4 % s

Question Number : 177 Question Id : 9662315788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr T AT | TR wT F gid dra

TeHTG SITERp g W Hrid e AT 8 W #HEH W
Options:
1. % s

o T
= W AT

4 ® w{i

Question Number : 177 Question 1d : 9662315788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o g A o Tl w E g drm

FedTe SIfEr g W T e I g Mg #H g W
Options:
1. % amme

2 % A
3% AT

4 ¥ m@rrg

Question Number : 178 Question Id : 9662315789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tour T areat T g ad AT BT T
Options:

1. % i



2. ® guogiw
3. ¥ gEeEE
4. % yive

Question Number : 178 Question Id : 9662315789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T =gl T Spg ad T T o dA
Options:

1. % qEier

o ® gEeir

3. ¢ UREOE

4 ® gegieew

Question Number : 179 Question 1d : 9662315790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg T s iE deg ST F AT

CEL
Options:
1. % 1qr
2 ® g
3 % g0
4 Taag

Question Number : 179 Question Id : 9662315790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o ™7 Sreg T aMwRiE deg J1T d

CEE
Options:
1. % 1qr
o ® o
3 % g0
4. ¥ T

Question Number : 180 Question Id : 9662315791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T areg o T WY A @ o e
=

Options:

1. % Tt & Arg g e
2. % T ST T aTen
= o T8 waidT g4 aTe
4 % et @t gy v g



Question Number : 180 Question Id : 9662315791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ™y sre O TR HET STerTer @ 2o A

LF U]

Options:

1. ¥ et & Ay v e
2. % TEt ST T aTen
3. o Tt & waidT g e
4 % TE @ gy vE g

Feneral Hindiz

Group Number : 10
Group Id: 96623183
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Gereral Hindiz
Section Id : 966231198
Section Number : 1
Section type: Online
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Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231209
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9662315792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T AETEl St # e e @ o H e

Options:
1. ¥ gy - Iud=, TFd
2 o T - G, WT



3. % g - AT dT

4 % offf - WY, eWT

Question Number : 181 Question Id : 9662315792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teg my aamft et § srguge e @ aae dim

Options:

1. % gyt - U, S8
2. ¥ T - g, 7T

3. ® UERY - AT T

4 % offff - WY, eI

Question Number : 182 Question Id : 9662315793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 sz %7 A e A FE

Options:

1. % e
= ¥
3. % a7y
4. %z

Question Number : 182 Question Id : 9662315793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 areg @7 AT e A

Options:

1. % e
= 9 g
3. % anA
4. ® arIEe

Question Number : 183 Question 1d : 9662315794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafmrET # & ey ame # emeT T 57

Options:

1. % [t a1t AT © == e gl

2 ® & G FF 0 T aT A
3. % gregatt & AN T ghy G 8l

4, & a1 arFETeE F FEAdT ]

Question Number : 183 Question Id : 9662315794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ToiatET & & T o # ammes e 57
Options:

1. % gt T FuTE & =T e 8

2 ® & G FF 0 T aT A
3. % gt & T ghy gerdT @)

4, & a1 arFETeE F FEAdT ]

Question Number : 184 Question Id : 9662315795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tau ™y amr W e A9 S

g "IEET A0
Options:

1. % guf g

2 ¥ sl qaeTe
3. % G-I gaaTe
4 % gierer qaere

Question Number : 184 Question 1d : 9662315795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeTy Iy armeper o0 e ST i

RERSIRELRL
Options:

1. % guf g

2. ¥ Ul AT
3. ® G dwTe
4 % Figre qaere

Question Number : 185 Question Id : 9662315796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
To ™y e # T v T STy & A S

JEHT GieaaT # T AT 2
Options:
1. & FF FFawT

2. ® g7 graeet
2. ¥ sy graedT
4. ® T graedr

Question Number : 185 Question Id : 9662315796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tour T ETerr T R o argieg & AT e
JHET Gi-aaT # Tt AT 2

Options:



1. & T arawet
2. % Har et

3. % e g
4. ¥ Topar araeet

Question Number : 186 Question Id : 9662315797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tety Ty ermerey BT ST ST IS

T T T AT 81
Options:

1. % maf gww

o % FHFRE

3. ¥ ey WG
4, % arfEEA FRE

Question Number : 186 Question Id : 9662315797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT T TR T A S )

T T T XA T 3]
Options:

1. % waf Few

o % FH T

3. ¥ O IS
4. % ST FE

Question Number : 187 Question Id : 9662315798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & F19 |7 eg ST 51 87
Options:

1. % afgAr

2 % gitiaAr

= ® 2T

4 & aEd

Question Number : 187 Question 1d : 9662315798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrfataT # & i A e SR A
Options:

1. % afgAt

2. % giuiAr

z % gieT

4 ¥ aad



Question Number : 188 Question Id : 9662315799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Ty <52 T AgeE A B

TFAT
Options:
1. % mar
2. % T A
3. ¥ A
4 UHE

Question Number : 188 Question 1d : 9662315799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tem T e =T sTgare A1 1

AT
Options:
1. % mar
o % T A
3. ¥ O
4 % T

Question Number : 189 Question Id : 9662315800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T e 3 way T ugET e

AT FHT ST 2]
Options:

1. ¢ e oy

= R o uy
3 % miuy

4 % Gacaare® 0gy

Question Number : 189 Question Id : 9662315800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaT T e O gy T O

AT FHT T 21

Options:
1. ¥ e ay

2 ® AEEEE T
z % iy
4 ® gEcare® 0y

Question Number : 190 Question Id : 9662315801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TrgferieT & & @1 |7 aner T amerg & JaTEe 27
Options:

1. 7 afvg agf 967 & ar Aer at 3

2 % gg gag T ST O A ST

3. ® T IET U e A

4, % FETAMETEAT 8

Question Number : 190 Question Id : 9662315801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & @ A7 T e aer @7 JeE 57
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Question Number : 191 Question Id : 9662315802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 192 Question Id : 9662315803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 193 Question Id : 9662315804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 194 Question 1d : 9662315805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 9662315806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Sub-Section Number : 2
Sub-Section 1d: 966231210
Question Shuffling Allowed : Yes

Question Id : 9662315807 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cuesticon Label | Comprehension
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Question Id : 9662315807 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Question Number : 197 Question Id : 9662315809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
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